A: Addition
1. 50 + 9 =

2. 43 + 9 =

3. 77 + 8 =

4. 46 + 11 =

5. 82 + 11 = 

6. 54 + 11 = 

7. 121 + 9 =

8. 138 + 9 =

9. 265 + 8 =
10.167 + 11 = 

11.134 + 11 =

12.279 + 11 = 

C: Addition and Subtraction

1. 432 + 9 =

2. 340 + 11 =

3. 262 – 11 =
4. 499 – 11 =

5. 562 + 8 =

6. 234 – 9 =
7. 732 + 11 =

8. 620 – 9 =

9. 172 + 11 =

10.193 + 11 =

11.327 – 9 =
12. 479 – 8 =
B: Subtraction

1. 76 – 9 = 

2. 45 – 9 =

3. 86 – 9 =

4. 97 – 11 =

5. 54 – 11 =

6. 89 – 11 =

7. 134 – 9 = 

8. 158 – 9 =

9. 245 – 9 =

10.332 – 11 =

11.420 – 11 =

12.349 – 11 =
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A: Addition

1. 4 + 9 =
2. 7 + 9 =

3. 15 + 9 =

4. 19 + 9 =

5. 28 + 9 =

6. 3 + 11 =

7. 8 + 11 =

8. 16 + 11 =

9. 24 + 11 =

10.30 + 11 =

11.26 + 11 =

12 32 + 11 =

C: Addition and Subtraction

1. 14 + 9 =
2. 13 + 11 =

3. 22 – 11 =

4. 24 – 9 =

5. 12 + 9 =

6. 19 + 11 =

7. 21 + 11 =

8. 24 + 9 =

9. 25 – 9 =

10.17 + 9 =

11.16 – 11 =

12.15 + 9 =

B: Subtraction
1. 12 – 9 =

2. 18 – 9 =
3. 20 – 9 =

4. 23 – 9 =

5. 15 – 9 =

6. 13 – 11 =

7. 16 – 11 =

8. 21 – 11 =

9. 20 – 11 =

10.25 – 11 =

11.23 – 11 =

12.17 – 11 =
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A: Addition:

1. 1344 + 9 =

2. 3256 + 9 =

3. 1788 + 9 =

4. 4279 + 9 =

5. 2143 + 9 =

6. 7652 + 9 =

7. 5478 + 11 =

8. 9436 + 11 =

9. 4511 + 11 =

10.7683 + 11 =

11.3283 + 11 =

12.8235 + 11 =

C: Addition and Subtraction: 

1. 6912 – 11 =
2. 3499 + 11 =

3. 1023 – 9 =

4. 4200 – 9 =

5. 6703 – 11 =

6. 1298 + 9 =

7. 7087 – 9 =

8. 6531 + 11 =

9. 6555 – 9 =

10.8976 – 11 =

11.2314 + 9 =

12.4613 + 11 =
B: Subtraction:
1. 4567 – 9 =

2. 5421 – 9 =

3. 7231 – 9 =

4. 9456 – 9 =

5. 8835 – 9 =

6. 7484 – 9 =

7. 4522 – 11 =

8. 7554 – 11 =

9. 3476 – 11 =

10.1023 – 11 =

11.8712 – 11 =

12.4978 – 11 =
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Adding or subtracting the nearest multiple, then adjust. 
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